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The second deriviative measures the change in slope with respect to x, 
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Turning Points 
All turning points are stationary points. 
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Inflection Points 
A point of inflection is where there is a change in concavity, to see if 

there is a change, check either side of the point. 
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Alternative Way of Finding 

Inflection Points 
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If the first non-zero derivative is of odd order,

i.e 0 or 0 or 0 etc

then it is a point of inflection
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If the first non-zero derivative is of even order,

i.e 0 or 0 or 0 etc

then it is not a point of inflection
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